- SIPEWALIK
EXE T,

ke Pee - mMoLoED
EXf. AT, MAT L
(® 28" o.c,

[—-. FINCEWALK,

52

>

FLAG [PLE
. COLLAR

AT ,

k——ccarlc, PréiE I

CONFERMAINICE

W OLE MFRS
ru/?fl};oug? Ozrm_

A KE.

FLAGPoLE
PAZE

3

e T

f

N DEWA LK~
CONTROL AT,

MIH ddrl&' e
cox O'u“’/m...ww M. i
. HIDEWALK . ,

wﬂﬂﬂdeM4H—1

ppoz'

= ‘1u" .

////\\Y//

ZIDEW ALK,
. EQ&

v

@/‘*‘IA ‘

LIGHT PIXTuCE

t g 1 8
lroX2-0 6.

conc. p16. v
2 -4 PA.WAY

BVe8 PP €ONne -
[0 DECK

B MET. GATE

METAL GATE
TO MATCH
RAMH&

- 4/-/4 4 &; Fiokers,

.'
‘9

9
&

— EXTERVAR

ONBR 16’ 6Q.
COoNG: PiK. POST, %0

\/

Q)

Q)

e

0’.
o
)
X5

)

é’
5

"

XX
..

‘v.’
O
..

<
*0
...

EXT. FINI§H. oNER

Q)

)
[

e —————

¥

o $4-cone-
DLK. PosT.

A
i

Pool. DEeK.

MET. RAIL.

congs. rmnm '

Py

—\

1

RUEREANAANA

D m, coNe. , THF.

ELEVATION..

- 12 =1'-0"

POOL RAILING / FENCE DE'TAIL'

\(»«m STOR, / 'nzwﬂ aual.

R Ao
A

- oo e . . -
% e, : . ‘ . . P -
i ke ¥ A 2o L A A, . e T e
L il 2.7 " 7 . . r v “e . . N ..
t ‘» . R - Y : .
."_‘.,q.f."l g e T B S 2 o i A 3
e G e : ~

Py o

#
-

FLo2R F’LMJ
o '/“r sl

AvEAL =
B E
: :
—H ; — o\
ore A—f - Al vaAZAr,
A 1 W/ LVB N CEL
L\ . ] - '
K ] i Ml udgentF,
* - — B M} HeTe?
El H »
- S
lote n—sl8l B NoTe. A
ZuRe — e
T — cure, e (5)
cAalc,. .-
PRNE

ﬁ”v\/mz ERTE W ";'Ft?.
L HINGEST AR

9,

RoVEYD PR Lh»’IE - /-
A He:,tw{ putY Lecik
kTCH' ‘

- PANT.Te Mifa e F sl

14.

15.

16.

17.

18,

134

e paemaoeo—/ 120
CEXOdT FILLER. Tt

S

Zuge @

&a}lt.‘augfb P2 ) [/ p—

| e  IDEWALIL

be
2/4

HOTES:

1. Site and exterior facilities shall comply

: with ADA (ADA Accessibility Guidelines)
4'1.2'

2. Accessible building facilities shall
comply with ADA 4.1.13.

3. Accessible route shall comply with ADA
4.3

4, Protruding objects into accessible walks,
halls, corridors or passageways shall
comply with ADA 4.4, :

5. Ground and floor surfaces along
accessible routes, and in accessible
rooms and spaces including floors, ramps,
stairs from accessible floors, and curb
ramps shall comply with ADA 4.5.

6. Accessible parking and passenger loading
zones shall comply with ADA 4.6.

7. Curb ramps shall comply with ADA 4.7, and
ramps shall comply with ADA 4.8.

8. Elevators, 1if provided for public use,
shall comply with ADA 4.10.

9, Drinking fountain, if provided for public
: use, shall comply with ADA 4,.14. o
10, Accessible toilet rooms shall comply with

ADA 4.22,

11. Accesaible bathrooms shall cowply with
ADA 4.23,

12, Handrails, grab bars, and tub and shower
seats required to be accessible shall
comply with ADA 4.26. :

-'13, Controls and operating mechanisma

required to bhe accessible shall coamply
with ADA 4.27.

Alarm systems required to be accessible :

shall comply with ADA -~ 4.28. At a
minimum, visual signal appliances shall
be provided. in each of the following
areast restrooms and any ot hoer
general usage areas (e.9.,, meeting
rooms), hallways, lobbies and any other
area for common uge.

Detectable warnings required shall comply
with ADA 4,29,

Signage required to be accesaible shall

comply with ADA 4,30 L
Telephones required to be accessible
shall comply with ADA - 4.131.

Motel accessible . aleeplnq roown shall

’ comply with ADA 9. 2.

— Al wasn.W/. ..
"E&‘n-Ftu._Mﬁrﬁ-M

Loz,

295 tT‘Vf’) 3/ -

- & enu W/ Mvawnl. |
AT REF. 16, 20 Ve (ﬁp)

g-—-—-—*mr f\um r14TE

2

27

R LaERA o (o WO WM —F-

_ f.}ﬂ . ) 'f(L,

.

Bra

A -
. . '-‘ .'
2
|
FAN
N

Y iy T

3

%

[P

£ ]?m]m

'.

Wy
—
-
£

o
na 1}

-

<

' s, AP
&0 w/cou&,. ..

PRUAEL § PAINT

FﬂLJAEC’

<Lockab1e hasp.

e'©©© e POOBROO @

: oo i
o, 4. ' *1@;=,<:
e, curd W1 o e
. Y . pz'vg .
. .9_;>;
R 3 ) .. <
' R
| L ' - i
' ' . ’ ' IR A -
CuURp @
. » . . . ) - ' » L. . s ',:;::
. . .OE. . ) L . o :
G RA R
L} ¢ ° ’-)
9‘},. "
(,'4
KEYNOTES
4" x 4% x 1/4" stl. tube jamb, .
~ Secure to conc. blk. w/ 3
expansion anchors.
3/4" dia. hinge bolt. Weld to~
stl. tube jamb.
2" x 4" x 3/16" stl. tube gate
frame. .
1" dia. x 6" hinge pipe. Weld \
to gate frame. : i
1/8" x 1" dia. washer. Weld to !
gate frame. - ‘ |
_ SR R
4% x 1/8* strap behlnd. Weld to |
gate frame. : ‘ ‘Y
L i
1/4" lag screw w/ att. from - ¥

behind. 3 per board.
3/4" x 24" bolt keeper.‘

1* dia. x 12* keeper plpe. weldf"l'i
to gate frame. - S

1- 1/2“ dia, burled pipe to recelve t;
keeper. . o

1/8" clip. Weld to gété f:ame;,i;;

2 x 4 S45 C and better cedar'bOafds;ﬁ
sealed against moisture penetration'

Hinge - 3_per )amb.

oS 1. (e R
(’?J@}L il e
el )t
_-if e
H J HévE. E.L.E.\/ |

" ]‘/t-

'.MFMZMA r/aH 4N SHT, c:/ 7"&,4459 ‘
I PRECEDENCE m/s[.z INFORM AT 100 -
:amLALzzzaEa u¢fazﬁAA71apf C

B

"eﬂ THS SHE

RICHARD wm1aaam*
_A_acrjlricr




